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PERIODIC TEST CLASS 6 Rubrics
1. The table below gives the correct answer for each multiple-choice question in this test
across version 1. All 4 versions have the same order of questions, hence this can be used
for other versions too.
2. If you are evaluating these questions on paper, please award the student 1 mark for
choosing the right option for each question. 

Q.No Correct Answers - Version 1

1 A

2 D

3 C

4 C

5 C

6 B

7 C

8 D

9 D

10 B

11 A

12 D

13 D

14 C

15 C

16 D

17 C

18 B

19 C

20 C



PERIODIC TEST CLASS 6 Rubrics

Q.No What to look for Marks

1

21 2

Award 1 mark each for any two of the following or any other relevant points:
1) People come in all shapes and colours.
2) People are different.
3) Everyone is special in their own way.
4) We must accept differences as part of being human.
5) We must not discriminate based on colour, shape or disability.

22 2Award 1 mark to any two of the following or any other relevant point:
1) The school has teachers, other staff and students from different states.
2) The school has teachers, other staff and students who speak different languages.
3) The school has teachers, other staff and students of all religions.

23 2Award 1 mark each for the following points:
1) Meteoroids heat up and burn upon entering the Earth's atmosphere. 2) When
meteoroids burn they cause a flash of light.

24 2-The atmosphere protects us from the harmful rays from the Sun.
- Atmosphere has gases that are important to sustain life.
- The Earth is at a right distance from the Sun that ensures we get enough heat and
temperature.

(any two points to be evaluated)

25 1- Bihar
(to be evaluated for 1 mark)

1- inscriptions
- literary texts
- any other relevant source

(award 1 mark for any one source)

2- The Ganga river made Magadha a trade hub.
- Fertile land supported agriculture and population growth.
- any other relevant point

(award 1 mark each for any two points)
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Q.No What to look for Marks

2

26 4Award 1 mark each to any four of the following or any other relevant point:
1) women are gentle and patient 2) women are good at only certain jobs
3) women are only good for support jobs 4) women's main goal in life is to get
married 5) women are incapable of dealing with technical things

27 3a) 82.5 degrees East is the longitude based on which the Indian Standard Time is
calculated. (1 mark)

Uttar Pradesh, Madhya Pradesh, Chattisgarh, Odisha, Andhra Pradesh are the 4
states the longitude passes through. (any 2 to be considered - 2 marks)

1b) The time difference between Indian Standard Time and Greenwich Mean Time is 5
hours and 30 minutes.

End of Questions in Paper


